



25-3700

PROVINCIAL GOVERNMENT OF DAVAO DE ORO

Cabidianan, Nabunturan, Davao de Oro

TECHNICAL SPECIFICATIONS FORM

Purchase Request Number: 25-3700

Bid Number: B-25-0211
 Date: 10/30/2025
 Page: 1 of 4

ITEM NO.	QTY.	UNIT OF ISSUE	DESCRIPTION	APPROVED BUDGET		BID PRICES	
				Unit Price	Total Amount	Unit Price	Total Amount
1	1244.0	pc/s	Absorbent Pad - with CPR	33.00	41,052.00	_____	_____
2	105.0	gal	Activated Glutaraldehyde solution 5L/ container - with CPR	2,844.00	298,620.00	_____	_____
3	2130.0	pc/s	Alcohol, Rubbing 70% Isopropyl 500ml - with CPR	88.00	187,440.00	_____	_____
4	81.0	pc/s.	Asepto Irrigation Syringe Plastic 60ml - with CPR	40.00	3,240.00	_____	_____
5	134.0	pc/s	Bandage Elastic 10cm x 1.6m - with CPR	61.00	8,174.00	_____	_____
6	249.0	pc/s	Bandage Elastic 15cm x 1.6m - with CPR	61.00	15,189.00	_____	_____
7	439.0	pc/s.	Blood Transfusion Set - with CPR	48.00	21,072.00	_____	_____
8	6.0	pck/s	Blue Sensor ECG Electrodes PVG Backing banan plug 3mm 25's	506.00	3,036.00	_____	_____
9	487.0	pc/s	Cord Clamp plastic - with CPR	6.00	2,922.00	_____	_____
10	12.0	pack/s	Cotton Balls, sterile, 300's - with CPR	55.00	660.00	_____	_____
11	60.0	set/s	CT Contrast Injector Syringe & Quick fill Tube with Medrad coiled low pressure connector tube M/F Luer Lock 152.4cm (Tri-pack)	1,800.00	108,000.00	_____	_____
12	495.0	pc/s	Diaper,adult (L) no CPR	55.00	27,225.00	_____	_____
13	39.0	box	Disposable Syringe Insulin G29 x 1/2 100's - with CPR	787.00	30,693.00	_____	_____
				SUB-TOTAL	747,323.00		

Purpose: FOR THE USE OF DDOPH-MONTEVISTA 4TH QUARTER TO PURCHASE MEDICAL, DENTAL AND LABORATORY SUPPLIES (MEDICAL

Delivery: PGSO WAREHOUSE

Period of Delivery: 10 DAYS



25-3700

PROVINCIAL GOVERNMENT OF DAVAO DE ORO

Cabidianan, Nabunturan, Davao de Oro

TECHNICAL SPECIFICATIONS FORM

Purchase Request Number: 25-3700

Bid Number: B-25-0211
 Date: 10/30/2025
 Page: 2 of 4

ITEM NO.	QTY.	UNIT OF ISSUE	DESCRIPTION	APPROVED BUDGET		BID PRICES	
				Unit Price	Total Amount	Unit Price	Total Amount
14	130.0	bx/s	Disposable Syringe w/ needle G-23, 10ml 100's - with CPR	660.00	85,800.00	_____	_____
15	109.0	bx/s	Disposable Syringe w/ needle G-23, 3ml 100's - with CPR	385.00	41,965.00	_____	_____
16	105.0	bx/s	Disposable Syringe w/ needle G-23, 5ml 100's - with CPR	418.00	43,890.00	_____	_____
17	52.0	bx/s	Disposable Syringe with needle G-25 x 5/8, 1ml 100's - with CPR	352.00	18,304.00	_____	_____
18	45.0	pc/s.	Endotracheal Tube -Fr 28 ID 7.0 with cuff - with CPR	100.00	4,500.00	_____	_____
19	89.0	pc/s.	Endotracheal Tube -Fr 30 ID 7.5 with cuff - with CPR	100.00	8,900.00	_____	_____
20	104.0	pc/s	Foley catheter Fr-14, 2 way - with CPR	34.00	3,536.00	_____	_____
21	512.0	pc/s	Foley catheter Fr-16 ,2 way - with CPR	48.00	24,576.00	_____	_____
22	2000.0	box	Gauze pad 4x4 8ply sterile 100 pack per box CPR	405.00	810,000.00	_____	_____
23	59.0	box	Gloves, surgical sterile,s 7.5 50's - with CPR	1,155.00	68,145.00	_____	_____
24	350.0	box/s	Gloves, Working size (large) 100's - with CPR	1,249.00	437,150.00	_____	_____
25	92.0	box/s	Gloves,surgical sterile,s 6.5 50's - with CPR	1,403.00	129,076.00	_____	_____
				SUB-TOTAL	2,423,165.00		

Purpose: FOR THE USE OF DDOPH-MONTEVISTA 4TH QUARTER TO PURCHASE MEDICAL, DENTAL AND LABORATORY SUPPLIES (MEDICAL

Delivery: PGSO WAREHOUSE

Period of Delivery: 10 DAYS



25-3700

PROVINCIAL GOVERNMENT OF DAVAO DE ORO

Cabidianan, Nabunturan, Davao de Oro

TECHNICAL SPECIFICATIONS FORM

Purchase Request Number: 25-3700

Bid Number: B-25-0211
 Date: 10/30/2025
 Page: 3 of 4

ITEM NO.	QTY.	UNIT OF ISSUE	DESCRIPTION	APPROVED BUDGET		BID PRICES	
				Unit Price	Total Amount	Unit Price	Total Amount
26	33.0	pc/s	Infra Red Digital Thermometer	2,900.00	95,700.00	_____	_____
27	38.0	bx/s	IV Cannula G-18 100's - with CPR	3,730.00	141,740.00	_____	_____
28	1479.0	pc/s	IV Cannula G-20 with CPR	55.00	81,345.00	_____	_____
29	9.0	bx/s	IV Cannula G-22 100's - with CPR	3,759.00	33,831.00	_____	_____
30	11.0	bx/s	IV Cannula G-24 100's - with CPR	3,897.00	42,867.00	_____	_____
31	14.0	bx/s	IV Cannula G-26 100's - with CPR	3,730.00	52,220.00	_____	_____
32	211.0	pc/s.	IV Stopper - with CPR	30.00	6,330.00	_____	_____
33	3725.0	sachet	Lubricating Jelly , 3 grams - with CPR	9.00	33,525.00	_____	_____
34	2355.0	pc/s	Macro / infusion set (adult) with CPR	88.00	207,240.00	_____	_____
35	12.0	pck/s	Micro / Infusion set (pedia)50's - with CPR	3,500.00	42,000.00	_____	_____
36	25.0	pc/s	Mouth Guard -Adult airway 70mm	77.00	1,925.00	_____	_____
37	16.0	pc/s	Mouth Guard -Adult airway 80mm	77.00	1,232.00	_____	_____
38	3.0	box/s	Name Band, Blue -100's NO CPR	561.00	1,683.00	_____	_____
39	3.0	box/s	Name Band, Pink -100's NO CPR	561.00	1,683.00	_____	_____
40	5.0	box/s	Name Band, White -100's NO CPR	561.00	2,805.00	_____	_____
41	80.0	pc/s.	Nasogastric Tube Fr-16 - with CPR	48.00	3,840.00	_____	_____
				SUB-TOTAL	3,173,131.00		

Purpose: FOR THE USE OF DDOPH-MONTEVISTA 4TH QUARTER TO PURCHASE MEDICAL, DENTAL AND LABORATORY SUPPLIES (MEDICAL

Delivery: PGSO WAREHOUSE

Period of Delivery: 10 DAYS



25-3700

PROVINCIAL GOVERNMENT OF DAVAO DE ORO

Cabidianan, Nabunturan, Davao de Oro

TECHNICAL SPECIFICATIONS FORM

Purchase Request Number: 25-3700

Bid Number: B-25-0211
 Date: 10/30/2025
 Page: 4 of 4

ITEM NO.	QTY.	UNIT OF ISSUE	DESCRIPTION	APPROVED BUDGET		BID PRICES	
				Unit Price	Total Amount	Unit Price	Total Amount
42	238.0	set/s	Nebulizing kit with Mask - (Pedia)- with CPR	94.00	22,372.00	_____	_____
43	297.0	set/s	Nebulizing kit with Mask - Adult - with CPR	94.00	27,918.00	_____	_____
44	259.0	pc/s.	Needle Spinal G-25 - with CPR	108.00	27,972.00	_____	_____
45	237.0	pc/s	Oxygen mask (adult) - with CPR	72.00	17,064.00	_____	_____
46	64.0	set/s	Oxygen mask (pedia) - with CPR	79.00	5,056.00	_____	_____
47	3.0	box/s	Pediatric Urine Collector 100's - with CPR	1,900.00	5,700.00	_____	_____
48	4.0	gal/s	Povidone Iodine 7.5% (Cleanser) - with CPR	1,500.00	6,000.00	_____	_____
49	10.0	pc/s.	Suction Catheter Fr-16 - with CPR	15.00	150.00	_____	_____
50	297.0	pc/s.	Suction Catheter Fr.8 - with CPR	41.00	12,177.00	_____	_____
51	10.0	bx/s	Surgical Blade #11 100's - with CPR	1,018.00	10,180.00	_____	_____
52	131.0	bx/s	Surgical Blade Number 10 100's - with CPR	400.00	52,400.00	_____	_____
				TOTAL/LOT	3,360,120.00		

Purpose: FOR THE USE OF DDOPH-MONTEVISTA 4TH QUARTER TO PURCHASE MEDICAL, DENTAL AND LABORATORY SUPPLIES (MEDICAL

Delivery: PGSO WAREHOUSE

Period of Delivery: 10 DAYS